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63 = Taking away 0 from 3 gives 3

= Taking sway 1 from 7 gives &

Multiplication( =} (*, &= Divislon(=) (=, =71}
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= Multiply the 3 ones b 0 = Estimate 7 tenis.
e 8 b e ) i mltiphy 100 7 = 70
O <7 = Muliply the 7 tens by P 70 and subtract
f {ﬁq K = Q = 73
== Multiplying by 10 = The remainder,
+ 730 e werite a 0 and then = A% less than the
multiply 73 by 1) divisor, 10,
g 5, wgiimrﬁ %0 =:We get 7.3 C after the remainder
f}-}ﬂ ot [T Ll Jo+ "’:Uh {._11?3{? 5 make 30 by adding 7. (decimal
. G podne). 30=10=3
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1. 45ml = Stsp 2. 3T = Stsp 3. lml = 0 3tsp

4, 18sp = 4T
6, 110 lioz = 110 B&e
8, 2¥ 9oz = dloz

5. Boups [pints = 10cups

70125 = Glsp

9, Fgal 2qt = SOcups

2023. 3. 23.



